Math 099 - Summer 2014 - Test 2
2 S 125+352+418 = 160 %C/Y

Instructor: Dr. Francesco Strazzullo Name
Instructions. Only calculators are allowed on this examination. Point values of each problem are indicated.
Always use the appropriate wording and units of measure in your answers (when applicable).
SHOW YOUR WORK NEATLY, PLEASE (no work, no credit).
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1. (10pts) Write the equation of the horizontal line passing through (3, 5>.
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2. (15pts) Write the equation of the line passing through (2, 1) and perpendicular to the line 3z 4 6y = 5.
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3. (10pts) Write the slope-intercept form of the line 3z — 4y = 12.
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4. (15pts) Write the equation of the line passing through the points (1,2) and (—4, 3).
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5. (16pt5) Solve the system of linear equations {
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6. (16pts) Consider the system of inequalities below. Graph and label the corner point for the solution
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7. (18pts) Two trains leave the same station traveling in opposite directions, one to Miami and the other
to Chicago. The one to Miami leaves at 6:00 AM (ET) and travels at a constant speed of 180 miles
per hour, while the other one leaves at 7:30 AM (ET) and travels at a constant speed of 250 mi/h.
At what time (ET) will the trains be 1000 miles apart? Hint: considering the time each train travels,
model this problem with a system of linear equations, solve the system, and state the time correct to
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